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1. A ____________ is the atomic unit of data transferred between systems

I). segment

II). component

III). Message

IV). data item

2. Select the statements which are true

I. some segments can be grouped into a segment group locally  with permission from HL7

II. A local Z message will consist entirely of Z segments 

A. I, II

B. II

C. I

D. None of the above

3. In the segment attribute tables, if the column labeled TBL# is not valued or blank, it means:

a. User defined table is used for the field values.

b. There is no table defined for the field values.

c. External table is used for the field values

d. The field does not take values from any table.

4. Position of encoding characters in MSH Segment 

a. Component Separator, Subcomponent Separator, Escape Character, Repetition Separator

b. Component Separator, Subcomponent Separator, Repetition Separator, Escape Character

c. Component Separator, Escape Character, Repetition Separator, Subcomponent Separator

d. Component Separator, Repetition Separator, Escape Character, Subcomponent Separator

5. The ASCII value of segment terminator is

A) hex 0D

B) 126

C) 92

D) 38

E) 124

6. Following message syntaxes are valid:

	A 
	B
	C
	D

	{ SEG 1}
	{ SEG1 }
	[ SEG1 ]
	SEG1

	   SEG2
	[ SEG2 ]
	{
	[ SEG2 ]

	[ SEG1 ]
	   SEG1
	  [ SEG2 ]
	  SEG3

	
	
	    SEG1
	{ SEG1 }

	
	
	    SEG3
	

	
	
	}
	


7. If the default encoding characters are being used, and a text field is being encoded whose content is the string "John & Mary", which of the following statements are true? 

I. The "&" must be encoded with an escape sequence. 

II. The "&" must be stripped from the string before encoding. 

III. The "&" must be encoded with Base64 encoding. 

IV. The "&" must be encoded with "\T\" if the default encoding characters are being used. 

V. The "&" must be encoded with "\A\" if the default encoding characters are being used. 

A. I. and III. only 

B. I. and IV. only
C. I. and V. only 

D. II. only 

E. III.only
8. The following are the components for Hierarchic Designator data type:

A. <Namespace ID (IS)> & <Universal ID (ST)> & <Universal ID Type (ID)>

B. <Entity Identifier (ST)> ^ <Namespace ID (IS)> ^ <Universal ID (ST)> ^ <Universal ID Type (ID)

C. <Entity Identifier (ST)> ^ <Namespace ID (ID)> ^ <Universal ID (ST)> ^ <Universal ID Type (ID)

D. <Namespace ID (IS)> & <Universal ID (ST)> & <Universal ID Type (IS)>

9. Which of the following rules apply to receiving HL7 messages and converting their contents to data values: 

I. Ignore segments, fields, components, subcomponents, and extra repetitions of a field that are present but were not expected 

II. Treat optional segments that were expected but are not present as consisting entirely of fields that are not present 

III. Treat fields valued with two double quotes |""| as not present. 

IV. Treat fields and components that are expected but were not included in a segment as present but null.

A.  I., II., and III. only

B.  I., II., III,and IV. only

C.  I. and II. Only

D.  I. only

E.  II. only

10. What is not true about original acknowledge mode? 
I. Message acknowledged at application mode 

II. The acknowledgment must contain data of interest to the system that initiated the exchange 

III. It is sufficient to know that the underlying communications system guaranteed delivery of the message. 

IV. The acknowledgment may contain data of interest to the system that initiated the exchange 

A. II and IV
B. II and III
C. I and III 
D. I and IV 
E. III and IV 
11. Which of the following is NOT a possible designation of optionality for a field within a segment in the segment attribute tables of the HL7 2.7 standard? 
A). R - Required 

B). O - Optional 

C). C - Conditional on the trigger event or on some other field(s) 

D). Z - User defined
E). B - Left in for Backward compatibility with previous versions of HL7 

12. The designation for NO repetition is/are

A). Y

B). Blank

C). (integer)

D). N

13. The following axiom is correct for version compatibility definition 

I. Old receivers receiving new messages may be able to continue receiving messages without error.

II. New receivers may be able to understand old messages.

A). Both I, II

B). Only I

C). Only II

D). None

14. In segment attribute tables, data type of a field is represented in column

A). DAT

B). DT/#

C). DP

D). None of the above

15. Mark the valid example where ‘abc’ and ‘xyz’ are segments.

A). {abc} [xyz] {abc} [xyz] 

B). [abc] xyz [abc]
C). [xyz] { [xyz] {xyz}} 

D). {abc} [ xyz ] abc

16. HL7 standard assumes that the communications environment will provide the following capabilities

A). Error free transmission

B). Character conversion

C). Transporting messages of any length

D). All the above

E). None

17. Which of the following is/are true?

A). New segment group may be defined
B). New fields may be added anywhere within a segment

C). New segments can be added at the end of an existing message only

D). A new table may be introduced
18. In Enhanced Ack mode, following apply to the MSH segment in the response 

I. MSH-7 is not an echo of the field in the initial message

II. MSH-5 contains code that is copied from MSH-4 of the initial message

III. MSH-10  is populated from the fields in the initial message

IV. MSH-11 contains code that is copied from MSH-11 in the initiating message

A). I, II, III     

B). II, III, IV  

C). I, IV 
D). I, II, III, IV 

19. When transfer of information is initiated by the application that does not deal with the triggering event it is called:

A). Query/Response mode

B). Unsolicited Update

C). Acknowledgement information

D). None

20. If an HL7 field definition calls for a field to be broken into sub-components, which of the following rules are used?

I. If more than one sub-component is included they are separated by the sub-component separator.

II. Sub-components that are present but null are represented by the characters ""

III. Sub-components that are not present are treated by including no characters in the component

IV. Sub-components that are not present at the end of a field need not be represented by sub-component separators.

A). I, II, III AND IV
B). I, II, AND III Only

C). I, II, AND IV Only

D). I, III, AND IV Only

E). II, III, AND IV Only
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